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__ 1. Germany has a highly developed
              industrial economy.  Most people
              have high income and live in cities.
              Many work in offices, stores, or 
              factories that use computers and
              robots to make cars, medicines,  
              and other hi-tech products. 
                      Are people like this likely
                       to have a lot of children? 

__ 2. India is a country that is changing
              from a farm-based economy to 
              a high-tech industrial economy.
              Millions of people live in cities
              and make movies, electronic music, 
              and computer software. At the
              same time, millions of people still 
              live on farms and in small towns.  

__ 3. Nigeria has a farm-based economy.
             Most people live in rural areas
              and are subsistence farmers -
              they raise crops or animals for
              their own families, not to sell
              for money. Children often leave 
              school before age 12 in order
              to help with farm work.
                    Are people like this likely
                     to have a lot of children?

1. Write the letter of the population pyramid that you think matches each country.

2. Write a four-sentence paragraph to explain the clues that you used to match 
     countries with their pyramids. Remember to make a topic sentence and then 
     describe some specific examples as evidence to support your topic sentence.
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